
Attach one Headboard/Footboard Bracket (A) to 
the corner of your platform bed frame using two 
1 3/4'' Bolts (D) and two Washers (E).  Secure the 
Bracket in place with two Wing Nuts (F). 

Attach one side of Support Bar (C) to the leg of your 
platform bed frame and the other side to the 
Bracket using two 1'' Bolts (G) and two Washers (E).  
Secure tightly using a Phillips Screwdriver.

A

D D

F F

1 3/4'' Bolt1 3/4'' Bolt

Wing NutWing Nut
Bracket

E
Washer

E
Washer

STEP 1 STEP 2

C

1'' Bolt

1'' Bolt

Support
      Bar

G

G

E
E

Washer

Washer

HARDWARE LIST

A. Headboard/
Footboard
Bracket (2 pcs)

B. T-Shape Extension (2 pcs) C. Support Bar (2 pcs)

D. 1 3/4'' Bolt 
      (4 pcs)

E. Washer 
     (8 pcs)

F. Wing Nut 
     (4 pcs)

G. 1'' Bolt 
      (4 pcs)

H. 1/2'' Bolt 
      (8 pcs)

I. Nut
   (8 pcs)

Universal Headboard/Footboard Brackets
Contains Two (2) Brackets and Hardware
IMPORTANT NOTE:
Carefully remove all the parts from the carton. Arrange on a flat 
surface and verify you have all of the following parts and hardware.

PART LIST

TOOLS REQUIRED:
Phillips Screwdriver
Pliers

ASSEMBLY INSTRUCTIONS

(Continued on back)



Attach one T-Shape Extension (B) to the Headboard/
Footboard Bracket (A) using two 1/2'' Bolts (H)
and two Nuts (I).  Do not tighten at this time.

The T-Shape Extension (B) to is able to adjust up or
down and left or right in order to accommodate
virtually any headboard or footboard. Fully tighten 
bolts using Pliers and Phillips Screwdriver when 
you have adjusted to your desired position. Extra
1/2'' Bolts (H) and Nuts (I) are provided in order to
ensure the Extension remains secure.

Repeat steps 1-4 on the opposite side of the
platform bed frame. 

Connect the “T” portion of the Extension Bar to
your headboard or footboard. (Use the hardware
provided with your headboard and/or footboard. 
Hardware not included with brackets)
 

Scan the QR code on your smart phone or device, or enter the link below to 
watch a complete video of the easy installation of the Premier Platform
Frame Headboard/Footboard Brackets.

A

STEP 3 STEP 4

B T-Shape
Extension

H
H

I

1/2'' Bolt1/2'' Bolt

Nut

Move up or down
along these tracks

Move left or right along these tracks

STEP 5 STEP 6

“T” connection

ASSEMBLY INSTRUCTIONS (CONTINUED)

http://www.youtube.com/watch?v=-HF-nJjKE6E&feature=g-upl


	UniversalBracketInstruction-Page1
	UniversalBracketInstruction-Page2.pdf

